12\ -G Tvacd Lec.

MAT 121 —Fall, 2010 Test 1 P

Chapter 1 Name K E

Solve the following equations. For each equation, state whether it is conditional, identity or
inconsistent.
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3. (5 pts bonus) Give an example of an equation in the variable x that is...

a. ...an identity. 4y + = < x + 1

b. ... inconsistent. = .
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g pl"? 4. The old combine can harvest the crop in 96 hours, but a new one can do it in 72 hours. How
‘ many hours will it take the two of them operating at the same time to harvest the crop? -
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k9 5. How much 75% antifreeze solutions should be added to 3 quarts of 30% antifreeze solution
gp to yield a 50% antifreeze solution?
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g‘ @\4 6. Find the exact distance between( 2,5) and (6, 8).
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('47. Determine the center and radius of the circle given by
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1'2—&1-...1. '70_1_“2;4_;1&\,—11!1
—r LB S S e R L = -

w =Y % +71+/07 =20

Y= TN + DQ1L l@j = 20
NG LA S y* 0y v = 20+ ¥ 3285
=
P N
(«2) "+ (G es) = yg
i ’; \- 7 ,.A’ﬁ‘ ‘
(hiey= (2,<) ,
o |
\.(_- i

s

8. Sketch the graph of (x+7)* +(y -8)* =36.
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9. Sketch the graph of each of the following equations. Main points / want to see are the
intercepts.
a. 2x+5y=10
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10. Find the equation of the line from the graph (x, ki ) = (' ot )

A ’ If 7
,aj 7 ,?" L1 (y’//\jb\/ - \\/u) R
L - S T -
';/”: ” \f"x._lj' Ef_—_f,_ - _7: %
= fl_.’\:‘f 7 i - y\’l-»%‘ \__C'—\\ l
/] £ _ 1@_(_\\\-!
54 RN oA
T = Ex k -
: e
Eerbh o2t |
. T s o é_—
.4______/——__’-__—_ )
. ‘ / ——-%/X +/ 2

%é\’? a. Point-Slope form:/(j = %( e L//(

L=
L

,7‘@\4 b. Slope-Intercept form: / Y =

0},8‘5 c. Standard form (with integer coefficients): }-‘ 7—>< 4—ij =%

11. Based on your answer to the previous question, find an equation of the line through (-1, -1)
that is perpendicular to the one in the graph. Give your answer in slope-intercept form.
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12. Compute the discriminant for ¢ each of the followmg quadratic equations, and determine the
nature of the solutions (How many, and whether it/they is/are real or non-real):
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13. Find all real or non-real solutions of the following quadratic equations by completing the

square AND by quadratic formula. Write in the lowest terms possible, e.g. V12 =2+/3. Do not
use decimal approximations via calculator.
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